# Subsidiary Conditions of the General Gel'fand-Yaglom Wave Equation Based on the Representation $(1/2, 3/2) \oplus (-1/2, 3/2) \oplus (1/2, 5/2) \oplus (-1/2, 5/2) \oplus$ $(1/2, 3/2) \oplus (-1/2, 3/2)$

## C. G. Koutroulos<sup>1</sup>

Received May 16, 1986

A method is given of obtaining the subsidiary conditions of the second kind of the general Gel'fand-Yaglom wave equation based on the representation  $(1/2, 3/2) \oplus (-1/2, 3/2) \oplus (1/2, 5/2) \oplus (-1/2, 3/2) \oplus (-1/2, 3/2)$  and in the presence of an external electromagnetic field by reformulating the wave equation in spinor form. The wave equations accepting these subsidiary conditions form a class defined by a set of simultaneous equations that is not empty.

### 1. INTRODUCTION

Johnson and Sudarshan (1961) discovered that for the spin-3/2 Rarita-Schwinger (1941) wave equation the equal-time commutation relations do not vanish at spacelike points when the wave equation is minimally coupled to an external electromagnetic field. This was a serious flaw for this wave equation, since this meant that the wave equation was not causal, i.e., the velocity v of propagation of the solutions of the wave equation is greater than the speed c of light.

Thus, A.S. Wightman in 1968 (see Wightman, 1971; Velo and Wightman, 1978) proposed the investigation of the stability of relativistic wave equations.

In 1969 Velo and Zwanziger (1969a, b) took up again the question of causality of the spin-3/2 Rarita-Schwinger wave equation in the presence of an external electromagnetic field, which they studied classically using the method of characteristics (Courant and Hilbert, 1974) and they found

<sup>1</sup>Department of Theoretical Physics, University of Thessaloniki, Thessaloniki, Greece.

that certain components of the wave equation propagate noncausally even for very weak fields.

These results stimulated studies of the causal behavior of various wave equations in the presence of various combinations of external fields (Shamaly and Capri, 1972a, b; Baisya, 1970; Nagpal, 1973; Krajcik and Nieto, 1976). Most of these works study the propagation of these wave equations using the method of characteristics. This method consists in converting the original wave equation, which has singular matrices, into a new wave equation with nonsingular matrices by using the subsidiary conditions of the second kind. Thus, in every case it is essential to be able to find these subsidiary conditions.

### 2. GEL'FAND-YAGLOM WAVE EQUATION

Our purpose in this paper is to give a method of finding the subsidiary conditions of the second kind of the general Gel'fand-Yaglom wave equation (Gel'fand et al., 1963)

$$\mathbb{L}_{0}\frac{\partial\psi}{\partial x_{0}} + \mathbb{L}_{1}\frac{\partial\psi}{\partial x_{1}} + \mathbb{L}_{2}\frac{\partial\psi}{\partial x_{2}} + \mathbb{L}_{3}\frac{\partial\psi}{\partial x_{3}} + i\kappa\psi = 0$$
(1)

based on the representation

$$(\frac{1}{2}, \frac{3}{2}) \oplus (-\frac{1}{2}, \frac{3}{2}) \oplus (\frac{1}{2}, \frac{5}{2}) \oplus (-\frac{1}{2}, \frac{5}{2}) \oplus (\frac{1}{2}, \frac{3}{2}) \oplus (-\frac{1}{2}, \frac{3}{2})$$
(2)

with components  $\tau$  interlocking according to the scheme



[Our notation is the same as that of Gel'fand et al. (1963).] The canonical form of the wave equation (1) with respect to the basis

$$\{\xi_{lm}\} = \{\xi_{l_1,m_1}^{\tau_1}, \xi_{l_1,m_1}^{\tau_1}, \xi_{l_2,m_1}^{\tau_2}, \xi_{l_2,m_2}^{\tau_2}, \xi_{l_2,m_1}^{\tau_2}, \xi_{l_2,m_2}^{\tau_1}, \xi_{l_1,m_1}^{\tau_2}, \xi_{l_1,m_1}^{\tau_1}, \xi_{l_1,m_1}^{\tau_1}\}$$

$$l_1 = \frac{1}{2}, \quad m_1 = \frac{1}{2}, -\frac{1}{2}, \quad l_2 = \frac{3}{2}, \quad m_2 = \frac{3}{2}, \frac{1}{2}, -\frac{1}{2}, -\frac{3}{2}$$
(4)

invariant under the complete group, derivable from an invariant Lagrangian, and associated with the bilinear form  $(\psi_1, \psi_2)$  defined by the constants

$$\alpha^{\tau_1 \dot{\tau}_1} = \alpha^{\dot{\tau}_1 \tau_1} = 1, \qquad \alpha^{\tau_2 \dot{\tau}_2} = \alpha^{\dot{\tau}_2 \tau_2} = -1, \qquad \alpha^{\tau_1' \dot{\tau}_1'} = \alpha^{\dot{\tau}_1' \tau_1'} = 1$$
(5)

is given in Koutroulos (1983). In particular, the matrix  $L_0$  has the block form

$$\mathbb{L}_{0}^{1/2} = \begin{array}{cccccc} \tau_{1} & \dot{\tau}_{1} & \dot{\tau}_{2} & \tau_{2} & \tau_{1}' & \dot{\tau}_{1}' \\ 0 & \alpha & 0 & i\sqrt{3}\beta & 0 & \gamma \\ \alpha & 0 & i\sqrt{3}\beta & 0 & \gamma & 0 \\ 0 & i\sqrt{3}\bar{\beta} & 0 & \varepsilon & 0 & i\sqrt{3}\zeta \\ \tau_{2} & \tau_{2} & \\ \tau_{1}' & \dot{\tau}_{1}' & 0 & i\sqrt{3}\bar{\zeta} & 0 & 0 \\ \dot{\tau}_{1}' & 0 & i\sqrt{3}\bar{\zeta} & 0 & \theta \\ \bar{\tau}_{2} & \tau_{2} & \\ \mathbb{L}_{0}^{3/2} = \begin{array}{c} \dot{\tau}_{2} & \\ \tau_{2} & \\ \tau_{2} & \\ \varepsilon & 0 \end{array} \right)$$
(6)

where  $\alpha$ ,  $\beta$ ,  $\gamma$ ,  $\varepsilon$ ,  $\zeta$ , and  $\theta$  are constants. The constants  $\alpha$ ,  $\varepsilon$ , and  $\theta$  are real numbers. For simplicity we introduce the new constants

$$b = i\sqrt{3}\beta, \qquad c = i\sqrt{3}\bar{\beta}, \qquad z = i\sqrt{3}\zeta, \qquad k = i\sqrt{3}\bar{\zeta}$$
(7)

# 3. SPINOR FORM OF THE GEL'FAND-YAGLOM WAVE EQUATION

We shall reformulate the Gel'fand-Yaglom wave equation in spinor language because, as we shall demonstrate below, it is then much easier to find the subsidiary conditions of the second kind which are necessary in the study of the propagation of the wave equation in the presence of an external electromagnetic field, using the method of characteristics. The subsidiary conditions of the first kind can be found easily from the canonical form of the wave equation by transforming it with the similarity transformation that converts the matrix  $\mathbb{L}_0$  of the wave equation into its Jordan form and selecting those differential equations that do not involve the time derivatives, but only the space ones.

To be able to express the Gel'fand-Yaglom wave equation (1) in spinor form, it is necessary to find the similarity transformation connecting the canonical basis  $\{\xi_{l,m}\}$  to the spinor basis

$$\{\alpha_{\varphi\nu}^{\dot{\omega}}, d^{\dot{\omega}}, \delta^{\dot{\omega}}, b_{\nu}^{\dot{\omega}\phi}, c_{\omega}, \gamma_{\omega}\}$$
(8)

Koutroulos

where  $\dot{\omega} = \dot{1}, \dot{2}; \varphi = 1, 2; \nu = 1, 2; \dot{\varphi} = \dot{1}, \dot{2}; \omega = 1, 2$ . This transformation can be found as follows. If

$$\mathbb{H}_{3}^{c}, \mathbb{H}_{+}^{c}, \mathbb{H}_{-}^{c}, \mathbb{F}_{3}^{c}, \mathbb{F}_{+}^{c}, \mathbb{F}_{-}^{c}, \mathbb{L}_{j}^{c} \qquad (j = 0, 1, 2, 3)$$
(9)

are the generators and matrices of the wave equation in the canonical frame and

$$H_{3}^{s}, H_{+}^{s}, H_{-}^{s}, F_{3}^{s}, F_{+}^{s}, F_{-}^{s}, L_{i}^{s}$$
(10)

are the generators and matrices of the wave equation in the spinor basis, then the similarity transformation  $\mathbb{T}$  must be such that it satisfies the relations

$$TH_{3}^{c}T^{-1} = H_{3}^{s}, \qquad TH_{+}^{c}T^{-1} = H_{+}^{s}, \qquad TH_{-}^{c}T^{-1} = H_{-}^{s}$$
$$TF_{3}^{c}T^{-1} = F_{3}^{s}, \qquad TF_{+}^{c}T^{-1} = F_{+}^{s}, \qquad TF_{-}^{c}T^{-1} = F_{-}^{s} \qquad (11)$$
$$TL_{i}^{c}T^{-1} = L_{i}^{s}$$

These relations are sufficient to determine  $\mathbb{T}$ . Thus, finding  $\mathbb{T}$ , it can be shown that the general 20-dimensional Gel'fand-Yaglom wave equation for maximum spin 3/2 based on the representation (2) invariant under the complete group derivable from an invariant Lagrangian and associated with the bilinear form (5) in the presence of an external electromagnetic field acquires the following spinor form:

$$-\pi_{11}b_1^{i1} - \pi_{12}b_1^{i2} + 2C\pi_1^i c_1 + 2Z\pi_1^i \gamma_1 + \chi\alpha_{11}^i = 0$$
(E1)

$$-\frac{1}{2}\pi_{22}b_{1}^{12} - \frac{1}{2}\pi_{11}b_{2}^{11} + C\pi_{2}^{1}c_{1} + Z\pi_{2}^{1}\gamma_{1} - \frac{1}{2}\pi_{12}b_{1}^{11} -\frac{1}{2}\pi_{12}b_{2}^{12} + C\pi_{1}^{1}c_{2} + Z\pi_{1}^{1}\gamma_{2} + \chi\alpha_{12}^{1} = 0$$
(E2)

$$-\pi_{22}b_{2}^{12} + 2C\pi_{2}^{1}c_{2} + 2Z\pi_{2}^{1}\gamma_{2} - \pi_{21}b_{2}^{11} + \chi\alpha_{22}^{1} = 0$$
(E3)

$$-\pi_{11}b_1^{12} + 2C\pi_1^2c_1 + 2Z\pi_1^2\gamma_1 - \pi_{12}b_1^{22} + \chi\alpha_{11}^2 = 0$$
(E4)  
$$-\frac{1}{2}\pi_1b_1^{22} - \frac{1}{2}\pi_1b_1^{12} + C\pi_1^2c_1 + Z\pi_1^2\gamma_1 - \frac{1}{2}\pi_1b_1^{12}$$

$$-\frac{1}{2}\pi_{12}b_{2}^{22} + C\pi_{2}^{2}c_{1} + Z\pi_{2}^{2}\gamma_{1} + \chi\alpha_{12}^{2} = 0$$
(E5)

$$-\pi_{22}b_{2}^{22} - \pi_{21}b_{2}^{12} + 2C\pi_{2}^{2}c_{2} + 2Z\pi_{2}^{2}\gamma_{2} + \chi\alpha_{22}^{2} = 0$$
(E6)  
$$-\frac{1}{3}B\pi_{2}^{1}b_{1}^{12} - \frac{1}{3}B\pi_{1}^{2}b_{2}^{11} - A\pi^{11}c_{1} - \Gamma\pi^{11}\gamma_{1} - \frac{1}{3}\pi_{1}^{1}b_{1}^{11}$$

$$-\frac{1}{3}B\pi_2^2 b_2^{\dot{1}\dot{2}} - A\pi^{\dot{1}2} c_2 - \Gamma \pi^{\dot{1}2} \gamma_2 + \chi d^{\dot{1}} = 0$$
(E7)

$$-\frac{1}{3}B\pi_{2}^{1}b_{1}^{22} - \frac{1}{3}B\pi_{1}^{2}b_{2}^{12} - A\pi^{22}c_{2} - \Gamma\pi^{22}\gamma_{2} - \frac{1}{3}B\pi_{1}^{1}b_{1}^{12}$$
$$-\frac{1}{3}B\pi_{2}^{2}b_{2}^{22} - A\pi^{21}c_{1} - \Gamma\pi^{21}\gamma_{1} + \chi d^{2} = 0$$
(E8)

$$-\frac{1}{3}K\pi_{2}^{1}b_{1}^{12} - \frac{1}{3}K\pi_{1}^{2}b_{2}^{11} - \bar{\Gamma}\pi^{11}c_{1} - \Theta\pi^{11}\gamma_{1} - \frac{1}{3}K\pi_{1}^{1}b_{1}^{11} -\frac{1}{3}K\pi_{2}^{2}b_{2}^{12} - \bar{\Gamma}\pi^{12}c_{2} - \Theta\pi^{12}\gamma_{2} + \chi\delta^{1} = 0$$
(E9)

Subsidiary Conditions of Gel'fand-Yaglom Wavé Equation

$$-\frac{1}{3}K\pi_{2}^{1}b_{1}^{22} - \frac{1}{3}K\pi_{1}^{2}b_{2}^{12} - \bar{\Gamma}\pi^{22}c_{2} - \Theta\pi^{22}\gamma_{2} - \frac{1}{3}K\pi_{1}^{1}b_{1}^{12} -\frac{1}{3}K\pi_{2}^{2}b_{2}^{22} - \bar{\Gamma}\pi^{21}c_{1} - \Theta\pi^{21}\gamma_{1} + \chi\delta^{2} = 0$$
(E10)

$$-\pi^{i1}\alpha_{11}^{i} - \pi^{i2}\alpha_{12}^{i} + 2C\pi_{1}^{i}d^{i} + 2Z\pi_{1}^{i}\delta^{i} + \chi b_{1}^{ii} = 0$$
(E11)  
$$-\frac{1}{2}\pi^{22}\alpha_{22}^{i} - \frac{1}{2}\pi^{i1}\alpha_{11}^{2} + C\pi_{1}^{2}d^{i} + Z\pi_{1}^{2}\delta^{i} - \frac{1}{2}\pi^{2i}\alpha_{11}^{i}$$

$$-\frac{1}{2}\pi^{i2}\alpha_{12}^{2} + C\pi_{1}^{i}d^{2} + Z\pi_{1}^{i}\delta^{2} + \chi b_{1}^{j2} = 0$$
(E12)

$$-\pi^{22}\alpha_{12}^2 + 2C\pi_1^2 d^2 + 2Z\pi_1^2 \delta^2 - \pi^{21}\alpha_{11}^2 + \chi b_1^{22} = 0$$
(E13)

$$-\pi^{11}\alpha_{12}^{1} + 2C\pi_{2}^{1}d^{1} + 2Z\pi_{2}^{1}\delta^{1} - \pi^{12}\alpha_{22}^{1} + \chi b_{2}^{11} = 0$$
(E14)  
$$-\frac{1}{2}\pi^{22}\alpha_{22}^{1} - \frac{1}{2}\pi^{11}\alpha_{12}^{2} + C\pi_{2}^{1}d^{2} + Z\pi_{2}^{1}\delta^{2} - \frac{1}{2}\pi^{21}\alpha_{12}^{1}$$

$$-\frac{1}{2}\pi^{i2}\alpha_{22}^{2} + C\pi_{2}^{2}d^{i} + Z\pi_{2}^{2}\delta^{i} + \chi b_{2}^{i2} = 0$$
(E15)

$$-\pi^{22}\alpha_{22}^2 - \pi^{21}\alpha_{12}^2 + 2C\pi_2^2d^2 + 2Z\pi_2^2\delta^2 + \chi b_2^{22} = 0$$
(E16)

$$-\frac{1}{3}B\pi_{1}^{2}\alpha_{12}^{1} - \frac{1}{3}B\pi_{2}^{1}\alpha_{11}^{2} - A\pi_{11}d^{1} - \Gamma\pi_{11}\delta^{1} - \frac{1}{3}B\pi_{1}^{1}\alpha_{11}^{1}$$
  
$$-\frac{1}{3}B\pi_{2}^{2}\alpha_{12}^{2} - A\pi_{12}d^{2} - \Gamma\pi_{12}\delta^{2} + \chi c_{1} = 0$$
(E17)

$$-\frac{1}{3}B\pi_{1}^{2}\alpha_{22}^{i} - \frac{1}{3}B\pi_{2}^{i}\alpha_{12}^{2} - A\pi_{22}d^{2} - \Gamma\pi_{22}\delta^{2} - \frac{1}{3}B\pi_{1}^{i}\alpha_{12}^{i} -\frac{1}{3}B\pi_{2}^{2}\alpha_{22}^{2} - A\pi_{21}d^{i} - \Gamma\pi_{21}\delta^{i} + \chi c_{2} = 0$$
(E18)

$$-\frac{1}{3}K\pi_{12}^{2}\alpha_{12}^{1} - \frac{1}{3}K\pi_{2}^{1}\alpha_{11}^{2} - \bar{\Gamma}\pi_{11}d^{i} - \Theta\pi_{11}\delta^{i} - \frac{1}{3}K\pi_{1}^{1}\alpha_{11}^{i} -\frac{1}{3}K\pi_{2}^{2}\alpha_{12}^{2} - \bar{\Gamma}\pi_{12}d^{2} - \Theta\pi_{12}\delta^{2} + \chi\gamma_{1} = 0$$
(E19)

$$-\frac{1}{3}K\pi_{1}^{2}\alpha_{22}^{i} - \frac{1}{3}K\pi_{12}^{i}\alpha_{12}^{2} - \bar{\Gamma}\pi_{22}d^{2} - \Theta\pi_{22}\delta^{2} - \frac{1}{3}K\pi_{11}^{i}\alpha_{12}^{i} -\frac{1}{3}K\pi_{2}^{2}\alpha_{22}^{2} - \bar{\Gamma}\pi_{21}d^{i} - \Theta\pi_{21}\delta^{i} + \chi\gamma_{2} = 0$$
(E20)

where C, Z, B, A,  $\Gamma$ , K, and  $\Theta$  are constants related to the constants, c, z, b,  $\alpha$ ,  $\gamma$ , k, and  $\theta$  entering the matrix  $\mathbb{L}_0$  by the relations

$$C = \frac{c}{2\varepsilon}, \qquad Z = \frac{z}{2\varepsilon}, \qquad B = \frac{b}{2\varepsilon}, \qquad A = \frac{\alpha}{2\varepsilon}, \qquad \Gamma = \frac{\gamma}{2\varepsilon},$$
$$K = \frac{k}{2\varepsilon}, \qquad \Theta = \frac{\theta}{2\varepsilon}$$
(12)

which amounts to dividing the wave equation (1) throughout by  $2\varepsilon$ . Note that by dividing throughout by  $2\varepsilon$  we are restricting the block  $\mathbb{L}_0^{3/2}$  to having nonvanishing eigenvalues, and hence the wave equation will describe spin-3/2 particles with or without spin-1/2 particles present, depending on the eigenvalues of the block  $\mathbb{L}_0^{1/2}$ . A bar above a quantity indicates its complex conjugate.  $\pi_{\sigma\dot{\rho}}$  ( $\sigma = 1, 2; \dot{\rho} = 1, 2$ ) are the electromagnetic spinor components connected to the four momentum electromagnetic vector components  $\pi_r$  (r = 0, 1, 2, 3) by the formulas

$$\pi_{11} = -\pi_0 + \pi_3, \qquad \pi_{21} = \pi_1 + i\pi_2, \qquad \pi_{12} = \pi_1 - i\pi_2, \qquad \pi_{22} = -\pi_0 - \pi_3$$
(13)

 $\chi = \kappa/2\varepsilon$  is a constant related to the masses of the particles associated with the field.  $i = \sqrt{-1}$ . (The free field wave equation follows from the above one for zero electromagnetic four-vector potential.)

We notice that if the constants (12) have the values

$$B = \frac{1}{2}, \qquad C = -\frac{1}{2}, \qquad A = -\frac{1}{2}, \qquad Z = K = \Theta = \Gamma = 0$$
 (14)

then the above wave equation goes over into the spinor form of the Pauli-Fierz wave equation for spin 3/2 (Fierz and Pauli, 1939; Gupta, 1954).

### 4. SUBSIDIARY CONDITIONS

We next find the class of all those 20-dimensional wave equations with maximum spin-3/2 accepting subsidiary conditions of the second kind. For this let us multiply equation (E11) by  $\lambda \pi_1^1$ , (E12) by  $\lambda \pi_2^1$ , (E14) by  $\lambda \pi_1^2$ , and (E15) by  $\lambda \pi_2^2$  and add,

$$\lambda \pi_1^1 \times (E11) + \lambda \pi_2^1 \times (E12) + \lambda \pi_1^2 \times (E14) + \lambda \pi_2^2 \times (E15) = 0$$
 (15)

where  $\lambda$  is a constant to be determined. Similarly, let us multiply (E17) by  $3\xi\pi^{11}$ , (E18) by  $3\xi\pi^{21}$ , (E19) by  $3\xi\pi^{11}$ , and (E20) and  $3\xi\pi^{21}$  and add,

$$3\xi\pi^{11} \times (E17) + 3\xi\pi^{21} \times (E18) + 3\xi\pi^{11} \times (E19) + 3\xi\pi^{21} \times (E20) = 0 \quad (16)$$

where  $\xi$  is a constant to be determined. Subtracting (16) from (15), we have

$$\lambda \{ \pi_1^1 \times (E11) + \pi_2^1 \times (E12) + \pi_1^2 \times (E14) + \pi_2^2 \times (E15) \} -3\xi \{ \pi^{1i}(E17) + \pi^{2i} \times (E18) + \pi^{1i} \times (E19) + \pi^{2i} \times (E20) \} = 0$$
(17)

Substituting into (17)

$$-6\chi \times (E7) - \mu 6\chi \times (E9) \tag{18}$$

(where  $\mu$  is a constant to be determined), having imposed the conditions

$$2B + 2K\mu = \lambda, \qquad 2A + 2\overline{\Gamma}\mu = -\xi, \qquad 2\Gamma + 2\Theta\mu = -\xi \qquad (19)$$

replacing  $\pi_{\sigma\dot{\rho}}$  by the relations (13), and imposing the condition

$$-\frac{1}{2}\lambda + (B+K)\xi = 0 \tag{20}$$

in order to create terms involving  $[\pi_p, \pi_q] = ieF_{pq} = f_{pq}$  (where  $F_{pq}, p, q = 0, 1, 2, 3$ , is the electromagnetic tensor), and finally imposing the conditions

$$3\lambda C - 3\xi(A + \overline{\Gamma}) = 0, \qquad 3\lambda Z - 3\xi(\Gamma + \Theta) = 0$$
 (21)

in order to make terms involving  $(\pi_r)^2$ , r = 0, 1, 2, 3, vanish, we obtain the following subsidiary condition of the second kind:

$$6\chi^{2}d^{1} + 6\mu\chi^{2}\delta^{1} + \lambda(f_{10} + f_{13} + if_{32} + if_{02})\alpha_{11}^{1} + 2\lambda(f_{03} + if_{12})\alpha_{12}^{1} + [\lambda C + 3\xi(A + \bar{\Gamma})](if_{12} + f_{30})d^{1} + [\lambda Z + 3\xi(\Gamma + \Theta)](if_{12} + f_{30})\delta^{1} + [\lambda C + 3\xi(A + \bar{\Gamma})](f_{10} + if_{20} + f_{13} + if_{23})d^{2} + [\lambda Z + 3\xi(\Gamma + \Theta)] \times (f_{10} + f_{13} + if_{20} + if_{23})\delta^{2} + \lambda(f_{01} + if_{02} + if_{23} + f_{13})\alpha_{22}^{1} = 0$$
(22)

By similar operations to the above, three more subsidiary conditions of the second kind can be obtained. For the second subsidiary condition we perform the following operations:

$$\lambda \{ \pi_1^1 \times (E_{12}) + \pi_2^1 \times (E13) + \pi_1^2 \times (E15) + \pi_2^2 \times (E16) \}$$
  
-3\xi \{ \pi^{12} \times (E17) + \pi^{22} \times (E18) + \pi^{12} \times (E19) + \pi^{22} \times (E20) \} = 0 (23)

Substituting into this relation the expression

$$-6\chi \times (\text{E8}) - \mu 6\chi \times (\text{E10}) \tag{24}$$

and imposing the conditions (19)-(21), we obtain the subsidiary condition

$$6\chi^{2}d^{2} + \mu 6\chi^{2}\delta^{2} + \lambda (f_{10} + f_{13} + if_{02} + if_{32})\alpha_{11}^{2} + [\lambda C + 3\xi(A + \overline{\Gamma})](f_{10} + if_{02} + f_{31} + if_{23})d^{1} + [\lambda Z + 3\xi(\Gamma + \Theta)](f_{10} + if_{02} + f_{31} + if_{23})\delta^{1} + 2\lambda (if_{12} + f_{03})\alpha_{12}^{2} + [\lambda C + 3\xi(A + \overline{\Gamma})](if_{21} + f_{03})d^{2} + [\lambda Z + 3\xi(\Gamma + \Theta)](if_{21} + f_{03})\delta^{2} + \lambda (f_{01} + if_{02} + f_{13} + if_{23})\alpha_{12}^{2} = 0$$
(25)

For the third subsidiary condition we perform the following operations:

$$\lambda \{ \pi_{1}^{1} \times (E1) + \pi_{1}^{2} \times (E2) + \pi_{2}^{1} \times (E4) + \pi_{2}^{2} \times (E5) \} -3\xi \{ \pi_{11} \times (E7) + \pi_{21} \times (E8) + \pi_{11} \times (E9) + \pi_{21} \times (E_{10}) \} = 0$$
(26)

Substituting into this relation the expression

$$-6\chi \times (E17) - \mu 6\chi \times (E19)$$

and imposing again the conditions (19)-(21), we obtain the subsidiary condition

$$-6\chi^{2}c_{1} + \mu 6\chi^{2}\gamma_{1} + \lambda (f_{10} + f_{31} + if_{02} + if_{23})b_{1}^{11} + 2\lambda (if_{21} + f_{03})b_{1}^{12} + [\lambda C + 3\xi(A + \bar{\Gamma})](if_{12} + f_{03})c_{1} + [\lambda Z + 3\xi(\Gamma + \Theta)](if_{12} + f_{03})\gamma_{1} + [(\lambda C + 3\xi(A + \bar{\Gamma})](f_{01} + if_{02} + if_{23} + f_{13})c_{2} + [\lambda Z + 3\xi(\Gamma + \Theta)](f_{01} + if_{02} + f_{13} + if_{23})\gamma_{2} + \lambda (f_{01} + if_{02} + f_{31} + if_{32})b_{1}^{22} = 0$$
(27)

For the fourth subsidiary condition we perform the following operations:

$$\lambda \{ \pi_1^1 \times (E2) + \pi_1^2 \times (E3) + \pi_2^1 \times (E5) + \pi_2^2 \times (E6) \}$$
  
-3\$\$\$ -3\$\$\$ \{ \pi\_{21} \times (E7) + \pi\_{22} \times (E8) + \pi\_{21} \times (E9) + \pi^{22} \times (E10) \} = 0 (28)

Substituting into this relation the expression

$$-6\chi \times (E18) - \mu 6\chi \times (E20) \tag{29}$$

and imposing the conditions (19)-(21) we obtain the subsidiary condition

$$6\chi^{2}c_{2} + 6\mu\chi^{2}\gamma_{2} + \lambda(f_{10} + f_{31} + if_{02} + if_{23})b_{2}^{11} + [\lambda C + 3\xi(A + \tilde{\Gamma})](f_{01} + if_{02} + f_{31} + if_{23})c_{1} + [\lambda Z + 3\xi(\Gamma + \Theta)](f_{01} + f_{31} + if_{20} + if_{23})\gamma_{1} - 2\lambda(f_{03} + if_{21})b_{2}^{12} + [\lambda C + 3\xi(A + \tilde{\Gamma})](if_{21} + f_{30})c_{2} + [\lambda Z + 3\xi(\Gamma + \Theta)](if_{21} + f_{30})\gamma_{2} + \lambda(f_{01} + if_{02} + f_{31} + if_{32})b_{2}^{12} = 0$$
(30)

Thus, if the constants entering the general 20-dimensional wave equation (1) are such that the relations (19)-(21) are satisfied simultaneously, then the wave equation accepts subsidiary conditions of the second kind given above, i.e., involving the field components  $f_{pq}$ . These relations define a class of 20-dimensional wave equations that is not empty. Examples belonging to it are given below.

#### EXAMPLES

We give now examples of wave equations for which one can find the subsidary conditions of the second kind as described above.

*Example 1.* If the constants  $\xi$ ,  $\mu$ , and  $\lambda$  have the values  $\xi = 1$ ,  $\mu = 1$ , and  $\lambda = \sqrt{2}$  and the constants entering the wave equation have the values

$$B = \frac{1}{2\sqrt{2}}, \qquad C = -\frac{1}{2\sqrt{2}}, \qquad Z = -\frac{1}{2\sqrt{2}}, \qquad K = \frac{1}{2\sqrt{2}}, \qquad A = -\frac{1}{4}$$
(31)  

$$\Gamma = -\frac{1}{4}, \qquad \Theta = -\frac{1}{4}, \qquad \chi \neq 0$$

the set of simultaneous equations (19)-(21) is satisfied and a spin-3/2 Gel'fand-Yaglom wave equation is defined whose matrix  $\mathbb{L}_0$  has in the

canonical basis the blocks

$$\mathbb{L}_{0}^{1/2} = \begin{array}{ccccc} \tau_{1} & \dot{\tau}_{1} & \dot{\tau}_{2} & \tau_{2} & \tau_{1}' & \dot{\tau}_{1}' \\ 0 & -\frac{1}{4} & 0 & 1/2\sqrt{2} & 0 & -\frac{1}{4} \\ -\frac{1}{4} & 0 & 1/2\sqrt{2} & 0 & -\frac{1}{4} & 0 \\ 0 & -1/2\sqrt{2} & 0 & \frac{1}{2} & 0 & -1/2\sqrt{2} \\ \tau_{2} & \tau_{2} \\ \tau_{1}' \\ \dot{\tau}_{1}' & 1 & 0 & 1/2\sqrt{2} & 0 & -\frac{1}{4} \\ -\frac{1}{4} & 0 & 1/2\sqrt{2} & 0 & -\frac{1}{4} \\ -\frac{1}{4} & 0 & 1/2\sqrt{2} & 0 & -\frac{1}{4} \\ -\frac{1}{4} & 0 & 1/2\sqrt{2} & 0 & -\frac{1}{4} \\ 0 & -\frac{1}{4} & 0 & 1/2\sqrt{2} & 0 & -\frac{1}{4} \\ \end{array} \right)$$
(32)  
$$\begin{array}{c} \dot{\tau}_{2} & \tau_{2} \\ \\ \mathbb{L}_{0}^{3/2} = & \frac{\dot{\tau}_{2}}{\tau_{2}} \begin{pmatrix} 0 & 1 \\ 1 & 0 \end{pmatrix} \end{array}$$

Notice that the eigenvalues of the block  $\mathbb{L}_0^{1/2}$  are all zero and hence the corresponding wave equation describes spin-3/2 particles. The matrix  $\mathbb{L}_0$  satisfies the minimal equation

$$\mathbb{L}_0^2[\mathbb{L}_0^2 - 1] = 0 \tag{33}$$

The charge associated with the wave equation is definite. Notice that the matrix  $L_0$  has det  $L_0 = 0$ , i.e., is singular.

*Example 2.* A second example of a 20-dimensional Gel'fand-Yaglom wave equation accepting subsidiary conditions of the second kind arises if the constants have the values

$$\xi = 1, \quad \mu = 1, \quad \lambda = \sqrt{2}, \quad B = \frac{1}{2\sqrt{2}}, \quad C = -\frac{1}{2\sqrt{2}}, \quad Z = -\frac{1}{2\sqrt{2}}$$

$$K = \frac{1}{2\sqrt{2}}, \qquad A = \Theta = 0, \qquad \Gamma = -\frac{1}{2}$$
 (34)

In this case the resulting wave equation describes spin-3/2 particles together with spin-1/2 particles (since the eigenvalues of the block  $\mathbb{L}_0^{1/2}$  are not all zero).  $\mathbb{L}_0$  satisfies the minimal equation

$$\mathbb{L}_{0}^{2}[\mathbb{L}_{0}^{2} - (\frac{1}{2})^{2}] \cdot [\mathbb{L}_{0}^{2} - 1] = 0$$
(35)

Example 3. A third example occurs if the constants have the values

$$\xi = 1, \quad \mu = 1, \quad \lambda = \sqrt{2}, \quad B = \frac{1}{2\sqrt{2}}, \quad C = -\frac{1}{2\sqrt{2}}, \quad Z = -\frac{1}{2\sqrt{2}}$$

$$K = \frac{1}{2\sqrt{2}}, \qquad A = -\frac{1}{2}, \qquad \Theta = \frac{1}{2}, \qquad \Gamma = 0$$
 (36)

This example again describes two kinds of particles, namely spin-3/2 and spin-1/2 particles.  $L_0$  satisfies the minimal equation

$$\mathbb{L}_{0}^{2}[\mathbb{L}_{0}^{2} - (\frac{1}{2})^{2}] \cdot [\mathbb{L}_{0}^{2} - 1] = 0$$
(37)

### REFERENCES

Baisya, H. L. (1970). Nuclear Physics, B23, 633.

Courant, R., and Hilbert, D. (1974). Methods of Mathematical Physics, Vol. II, Wiley, New York.

Fierz, M., and Pauli, W. W. (1939). Proceedings of the Royal Society, 173A, 211.

- Gel'fand, I. M., Minlos, A. M., and Shapiro, Z. Ya. (1963). Representations of the Rotation and the Lorentz Groups and Their Applications, Pergamon Press, Oxford.
- Gupta, S. N. (1954). Physical Review, 95, 1334.

Johnson, K., and Sudarshan, E. C. G. (1961). Annals of Physics, 13, 126.

Koutroulos, C. G. (1983). Nuovo Cimento, 74A, 277.

Krajcik, R. A., and Nieto, M. N. (1976). Physical Review D, 13, 924.

Nagpal, A. K. (1973). Nuclear Physics, B53, 634.

Rarita, W., and Schwinger, J. (1941). Physical Review, 60, 61.

Shamaly, A., and Capri, A. Z. (1972a). Annals of Physics, 74, 503.

- Shamaly, A. and Capri, A. Z. (1972b). Lettere Nuovo Cimento, 3, 467.
- Velo, G., and Wightman, A. S. (1978). Invariant Wave Equations, Lecture Notes in Physics, Vol. 73, Springer, New York.
- Velo, G., and Zwanziger, D. (1969a). Physical Review, 186, 1337.
- Velo, G., and Zwanziger, D. (1969b). Physical Review, 188, 2218.
- Wightman, A. S. (1971). Troubles in the External Field Problem for Invariant Wave Equations, Gordon and Breach, New York.